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Algebra IT

A 1s inversely proportional to D and directly proportional to K. If A =

8 when D = 2 and K = 2, find & when D = 3 and K = 6.
a. 24 b. 16/3 c. 2 d. 4 e. 1&

Simplify the expression below to an equivalent one without negative

exponents:
xT3yr5z2

W SyZy=3
a. 2/ (y3z) e, . yv3¥/(x2z) e, 1/(xBy3z)
b, x2z58/y7 d.  z/(xBy3)
The sum of ftwo numbers is & and their product is -24. Find a quadratic
polynomial with the two numbers as roots.
a. 6x2 - 24 .%o~ Gx - 24 2. (x - 6)(x + 24)
b, x* - 24x + 6 d.  24x® + 6x + 1

Determine the nature of the solutions of the equation without solving:

7y2 o+ 2 = 2f14y.

a. Two unegual rational solutions

b. Two unegual real solutions

c. One real solution

d. Two conjugate imaginary solutions

e, No solutions

Which pair of eguations represents two perpendicular lines?

a. y = o= + 2 vy + x = 5
b. X + By = F; o x - Xy = |
C. 2 + y = 65 4x + 2y = 5
d. % + 2y = 1; 2x + y = X
e. Iy = x + 9 vy = ~3Fx + 1



Algebra 11X

5.

10.

11,

VS e T e A T s
2x% 4+ Bx - 2 X% o+ o - 2

a. (x + 1)2/(x + 2)2
b. (x + 1)/(x - 1)
. {x + 2)3/(x + 1)2
d. (x - 1)/{x + 1)

e. (x + 1)%

How many ways can four people be arranged around a card table if the

arrangements N W 8 and E are all considered to be the same?
WE, SN, EW, N S
S E N W

a. B8 b. 24 c. 4 d. 6 e. 1

Evaluate 8134,
a. 34814 k. 108 C. &60.75 d. 27 e. 1/814/3

Which polynomial has a factor of (x - 1)7?
8. X% + x9 4+ x3 + xT + x + 1

b, 3Ix50 - 2%25 4+ j100

c. x4 - x3 + 2x* - 2x - 4

d. x3 - 1llx + 20

. 3Ix50 - D225 4 1850

Simplify: =4~121

a. =-11i b. 111 c. 11 d. -11 e. if121

What is the solution to the system: vy = {1/2)x + &
4(x + 3y) = 2x + 4y ?

a. (0,0) c.  (-57/30, 399/60) e. (1310, 21t/20)

b. (2,-3) d.  (-8/5, 2/9)
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‘Algebra I

What equation best depicts the following graph:

a. Ff(x) = 2-x 4

b. f(x) = 2x/2

c. F(x) = 21/x2

d.  f(x) = (2/3)-~

e. Ff(x) = 1/2x ”

Simplify (I + 1i)}3,
11 + 7i e. 27 + 2Bi + 9i2

9]

a. 18

b, 18 + 261 d. 27 - i

Solve the inequality: &5 - 2[1.5%x + 3] 2 1.

a. ¥ s x £ 1043

b. »x & ~2/3
c. x 2 -10f3
d.  x € -10/3 or ~2/3 € x

e. =10/3 $ x £ ~2/3

If §z + 2§22z + 1 - §3z + 4 = 0, what is the solution set for z?

a. {(2d7/73 b, {4} c. {0} d. {4, 0} e. @

Given 3x5 + S5x3 + x - 2 = 0, which possibility for solutions is correct?
a. 3 positive roots and 2 negative roots

b. i positive and 2 pairs of conjugate imaginary rooté

c. 1 positive, 2 negative, and 1 pair of conjugate imaginary roots

d. 2 positive, 2 negative, and 1 imaginary root

e. no positive roots

Find the solution set for 4x-9 + 9 = 13x~2,

a. {*i, +2/3) c. {22, +2f57%) e. {1, +2/3}
b. {+1, +9/4} d. (+1/2, +9/8)
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18.

19,

20.

21.

Which answer below represents the solution to the system?

Ix + y - z = 11
X + 3y - z = 13
x + y -~ 3z = 11
a. 111 -1 3 11 -1 31 11
13 3 -1 113 -1 1 3 13
111 -3 111 -3 1.1 11}
= Xy = Y =z
-20 -20 ~-20
b, 31 -1 1 -1 2 -1 31
1 3 ~-1] = %, I =1 1] = v, -1 1 3| = z
11 3 1 31 - -3 11
G 11 1 -1 3 11 -1 1 11
J13 3 -1} = %, 113 ~1] = vy, 1 3 13| = z
111 3 111 32 11 11
d. X 1 1 r 1 3 1 3 1
I 3 1] = %, 3 1 1] = vy, 1 1 3y =z
-1 =1 -3 -1 -3 -1 -3 1 ~1
e. 3 1 1 1 1 3 1 3 1
1 3 1 2 1 1 1 1 3
-1 -1 -3 -1 -3 1 3 1 -1
= X, oy, = Z
-20 -20 =20
Find x when 2x +. 1 _x + 1 = -3
x + 2 x + 3 X2 + 5x + &
a. -3 b. 2 c. -2 d. -5 e. ¢

Suppose a pair of dice are thrown together two times in succession. What
is the probability of at least one of the dice showing & 3-spot on the
first throw and the sum of both dice being 7 on the second throw?

42/ 362

12/36% d.

8/36 . 66/362 e.

a. 17/36 b.

Find A and B if 3x* ~ 5x - & = 3(x + A)? + B,

a. =5/6 = A, -9/12 = B d. =53 = A, 9112 = B
b. 5/6 = A, ~97/3 = B e, -5/3 = a, M9 =B
o. 5/3 = A, 1/ = B
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What is the graph of y =

b. I
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A child needs special instruction if he makes above 130 or below 70 on
the Wechsler IQ test.

24 .

235.

0.13%

13.59%

34.13%

34.13%

N\

13.59%| 2.14%

0.13%

Py

85 100
C. 54%

70

a. 34.13% 4.

.o 2i
4 + 5]

Simplify:

a. 419 + 13/404 ©.  -58/23 + 58/43i

b. 239 + 43fd01 d.  -234 - /i

What is the coefficient on the x%y5 term

8. -16 b. 12& c. -126(16)

5

d.

130 145

2.27%

115

d. e. 47.72%

e. -~23/58 + 43/58i

in the expansion of (2x - y)97

-126 e. 16
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26 .
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Some roots of a polynomial esquation are 2, -1, and 2 ~ zif5. All of the
coefficients are integers. Another root must be

. =2 c. 345 + 2i e. 2 + 3if5

b. 2 - 3if8 d. 1

The ineguality 4x® - 9y* > 36 goes‘with which graph below?

p ) \

Which of the following systems is both dependent and consistent (that
is, has an infinite number of solutions)?

3. x = y = 21 b. x + 3y = 10 c. 2x = y = 1
Iy -~ 3Ix = 7 x + 9y = 22 Ix +y = 11
o. Zx - dy = 17 e. 4 - y = 10
~6x + 12y = ~51 2x + 3y = -2

A class of 12 consists of 7 guys and 5 gals. Three students are to be
chosen as class officers. If the selection of any one student is just as
likely as the selection of any other student, what is the probability
that at least 2 of the officers will be guys?

a. 28/55 b, &/9 c. 38/65 d. 12/27 e. 7/11
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Algebra I1

Which relation below is not a function?

a. = 3 - % C. ¥*® = x - 2 e. y3 - x
f2x + 3 d. vy = |x - 2|

o
LA 4
H

A& certain fifth degree polynomial has leading term 2x% and constant term
3. Which of the numbers given beslow gould never be a root of the

polynomial?

a. =l k. =*3 c. *1/2 d. *2/3 e. *3/2

(5 + 41)(3 + 7i) = =»

a. 12 -~ 471 C. 8 + 11i e. 8 - 111
b. =13 + 47i d. -8 - 11i

IfT f(x) = 85x -~ 3 and g(x) = 2x + 7, then fog(x) = 72

a. 10x + 32 c. 10x + 1 &. 3Ix - 11
b, 2(5x - 3) + 7 d. Tx + 4

Which is the graph of y = |3 - x| ?

N .

l'"|




Algebra II

35, Suppose the function Ff(x) = 2x3 + 4x® - 3x + 5 is divided by x + 2.
Then the remainder is

a. 31 b. =11 c. F(23 d. =31 e. f(-2)

36. Simplify: 18xi/33z12 | (4xyd1z4)
IxliyR 732

a. 5BuxSy7z3 c. 20xtlyz3 e, 20xb6yT1z3

b 20x2y721/3 d. 12xl/3y1/223

Z7. Which parabola below has its vertex at (3,4)7

a y = 3(x - B)? - 4 d. vy = 5(x - 4)* + 3
b vy = 5(x - 3)* + 4 e. y = 4(x - 5)*% - 3
c. y = 4(x - 3)* - 5

28. Which method shown below would not lead to the correct solution to the

system:
Yy = Bx + 3
4% + Iy = 2 7

a. 4x + 3(Bx + 3) = 2 e.
b. 4 + 3y = 2

+ (15% = 3y = -9}
C. y = 5Bx + 3

+ (By = =5x + 27
d. 4y - 3)/5 + 3y = 2

39, In how many ways can a banguet committee comprised of 20 students choose
a subcommittee of 4 students to be in charge of decorations?

a. 4! b. 20! c. 20!/4! d. 20!/16! e. 20!/(4116!)

40, Solve the inequality %% -« 3Ix - 7 < x - 2,
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